ol
T
|y
o

<
T
i
il
7
il
)A

T
TR

op

@ 8 ® -98 @ 0.7

O +



o, Al

St
=

o 42H ug

—6,47,-1,0,-5,-8, +4




® +1

@ 0

o 3
2

O -1.2



@ -4<0 ® -4<-5

O -2<-1

G 4>-1

@ -7 < -4



ol
ol

_io

94

Aol A7t 3 olskel a5

el

5.

@ 1 B 2

3 0



© ®@ ©

125

@ -25=-10

@ (-1)*x10% = 300



ol
RS
o|J
ofig
Nfo

oln

#e47} ohet.
24710 o] of

[e)

.

@ o



~—5£E}2ﬂ° =k

B £ 4 Hrp 5 2 0|t o,
A, B oA 22 Al A= A offl HA oA ZEoH?
_l9 T I_16 T I_I3 T T T T T T 6] T T T

G 1



2 AR Ao 758 Gdstolat

© 0 @—25—0 @ 9




10. e S5 544 9o Uehygle o, 0 2%o4 U BAjel 45
Tsfofat,

@5 ©-2 ©-- ©-34 @,

(=g
-






12. o8 3 AR L 3

As =k







I~ |00

0 [ ©

o<t

[a\ N Kael

™ |00

— <

— <t

— |00

— |00



3
Hm
< <
R ol
ny =
o| on
‘_.__mo 3
mo
o B
T ol
N
Xy
o N
= i
o =
ol
~ ol
)
H ﬂ ]
T o
woTE

15. o=

® -3 ® 5 @ 4 B 2

D -1



Mo
i

S7h et

ofpl

,—.,_NO

27} Eit,

ﬂmo

o

B
ife]
Ho

i



17.

4 719 2]

e gred (¢

-l>



18. S Fa bolthotd a>0,b<0 ¥ I TF

[e)

=1

<%

D a+b @ b-a B a-»b @ axb

B a=b



F /85 a,b7taxb>0, bxc< 0o, o}

19.

ol

@ a-b @—% @ a-c © axc

@ b-a



)—(-10) J(l)

(2)
(3)

D —

1_‘]2_
=

)—(=10)

(~20) % (1)
5 +(—20) x ( 1
5

11
2 5
(-1
( 0)+(+4)—(
+4) e
+(—10)+(+10z

AAt 3
Tt oA o]-&
gl
(+4)+0

(=20) x(

[

j=1

20. o

i~
!
o
E

I~
o
o
iz

_Z_l

e
;OH

T

—

_Z_l
s
o
4

]’

_X_l

L
__OH

T

—

_Zﬁ
s

jant
!

—

_Z_l
L,

;OB
T
i~
Gt
ol
e
i~
g

jant
izl



